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E - associativity ( * entries per get)
s - bits used for set

b - bits used for block offset (size

S = 25 - number of total sets

B. = 2b - block size ( ignore)

Total # of cache lines : E <s s

E & S
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assume address a LIII

given s
,
b -

a

tag = a >> (Stb)
idx = (as> b) & (( Iacs) - i )

s =3

8 - I = 7

111

set x starts
s 's

at offset X • E 32 - 1=31

11111

addr

b A tag used within

(tag , index)
the search

* index tells us

↳ FEA where to search

✓↳fnisses⇐ isithit Look for Invalid
line . Irv - time ¥y

Tf itevictions
peace \

place - write tag , valid, Irv Findings
in the "current" line lpiacef


